= % 2a°b — 6a*b? + 2b3 oA 2} &

@ 2ab @ 24%b 3 2b
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® (x+2)(x-2)

@ (x+2)(x+1)

® (x+2)?

@ x(x+1)



2 5 2a%b - 6ab? & 57t otd AL22

© 2 @ 2a2b @ b2
® a-3b ® 2(a - 3b)



4.  12ax?® - 12axy + 3ay? & ATE|51H?

@ 12(ax — ay)? @ 6a(x—y)? ® (6ax —ay)?

@ 3a(x-y)? ® 3a(2x-y)?



5.  2x% - 6xy - 8y? & A-EdlotH?

@D (2x—4y)(x+2y) @ (2x - 4y)?
® 2(x—-4)(x+1) @ 2(x—4y)(x+y)

® 2(x - 2y)?
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@ x*-b5x-6=(x-2)(x-3)
@ 12x - 4x? = 4x(x - 3)

@ x*-14x+49= (x-7)*

@ 3x? +5x—2=(x-2)(3x+1)

® 4a® —9b* = (2a — 3b)(2a + 3b)



® x*2-6x+9

@ 9x?-9

@ 3xy-y

® 6x2-x-1

@ x>4+x-12
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@ 2x+3y ® 2x+ by



O (x-a)(y-b)

@ (x+a)(y+Db)

@ (x—a)(y+b)

@ (x+a)(y-b)



@ x*-1 @ x*-1

D x-1

® x8-1

@ x5-1



11. -y —x+5y-6=A(x+y-3) ¢ ™, A E FolH?

O x+y+2 @ 3x-y+2 ® x-y+4

@ x-y+2 ® x-3y+2



® 242 @ 42 ® 8

@ V2

@ 2



13.

TE =AY R Bt

(1) a®> +8a+A = (a+4)>
(2) ¥ +Bx+9 = (x+C)?

® 16, 6, 3 @ 8,6, 3

@ 8, 3,6 ® 6, 8,3

® 16, 3, 6



14.

@ -xy

@ 2y—xy

@ 2x-xy
® x—xy
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15. (a-b+3)%-(a+b+3)* S s

@© -4b(a-3) @ —4a(b+3) ® -8b(a+3)

@ —da(b-3) ® —4b(a+3)



